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2020/12/8~2021/2/28 (2020/11/53R7E)
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Ef B FZEHE BEEE E4 EEE
2020/12/8 =y HHEIRER) 67 10,500
2020/12/8 | #H#EERER) =y 68 10,500
2020/12/9 =y HEEGRER) 67 10,500
2020/12/9 | #HEERER) =y 68 10,500
2020/12/10 =y HEEGRER) 67 10,500
2020/12/10 | #H#E(ARER) =y 68 10,500
2020/12/11 =y HEEGRER) 67 10,600
2020/12/13 =y HEEGRER) 67 11,400
2020/12/13 | H#E(ARER) =y 68 12,200
2020/12/14 | H$E(ARER) =y 68 11,400
2020/12/15 =y HHEGRER) 67 11,000
2020/12/15 | #H#E(ARER) =y 68 11,000
2020/12/16 =y HHEGRER) 67 11,000
2020/12/16 | #H#E(ARER) =y 68 11,000
2020/12/17 =y ki€ 1)) 67 10,800
2020/12/17 | #H$E(ARER) =I5 68 11,000
2020/12/18 =y HHEGRER) 67 10,900
2020/12/19 =y ki€ 1)) 67 11,400
2020/12/20 =y HHEGRER) 67 12,000
2020/12/21 = HEEGRER) 67 12,100
2020/12/21 | i#BGRER) = 68 13,300
2020/12/22 | i#BFRER) = 68 13,800
2020/12/24 = HEEGRER) 67 12,100
2020/12/24 | iH#BFRER) = 68 13,200
2020/12/28 | iH#B(FRER) = 68 13,900
2020/12/30 | H#EFBER) = 68 13,800
2020/12/31 | 4#B(FRER) = 68 13,200
2021/1/1 = HEEGRER) 67 14,400
2021/1/1 HHBERER) = 68 14,200
2021/1/2 = HEEGRER) 67 14,100
2021/1/4 = HEEGRER) 67 10,200
2021/1/6 = HHEGRER) 67 9,400
2021/1/6 sk € ) (= 68 9,400
2021/1/17 = HEEGRER) 67 10,400




2021/1/17 RN = I 68 10,100
2021/1/8 =y HHEIRER) 67 11,300
2021/1/8 AR =y 68 10,800
2021/1/9 RN = I 68 11,300
2021/1/10 = HHEIRER) 67 11,300
2021/1/10 | #H$E(ERER) =y 68 12,000
2021/1/11 =y HEEGRER) 67 10,800
2021/1/12 | #H4E(ARER) =y 68 10,400
2021/1/13 =y HEEGRER) 67 10,100
2021/1/13 | #H4E(FRER) =y 68 10,100
2021/1/14 =y ki€ 1)) 67 10,400
2021/1/14 | #H5E(ARER) =y 68 10,100
2021/1/15 =y HEEGRER) 67 11,300
2021/1/15 | H#E(FRER) = 68 10,800
2021/1/16 =y HEEGRER) 67 12,000
2021/1/16 | HE(FRER) = 68 11,300
2021/1/17 =y ki€ 1)) 67 11,300
2021/1/18 =y HHEGRER) 67 10,800
2021/1/18 | #H$E(FRER) = 68 11,300
2021/1/19 =y ki€ 1)) 67 10,100
2021/1/19 | #HEFRER) =I5 68 10,400
2021/1/20 =y HHEGRER) 67 10,100
2021/1/20 | #H%E(ARER) =y 68 10,100
2021/1/21 =y HHEGRER) 67 10,400
2021/1/21 | H4E(ARER) = 68 10,100
2021/1/22 = HEEGRER) 67 11,300
2021/1/22 | H#&E(ARER) = 68 10,800
2021/1/23 | H#E(ARER) = 68 11,300
2021/1/25 = HEEGRER) 67 10,800
2021/1/26 | H#E(ARER) = 68 10,400
2021/1/217 = HEEGRER) 67 10,100
2021/1/27 | #H#&EGBER) = 68 10,100
2021/1/28 = HEEGRER) 67 10,400
2021/1/28 | H#&(ARER) = 68 10,100
2021/1/29 = HEEGRER) 67 11,300
2021/1/29 | H#BE(ARER) = 68 10,800
2021/1/31 = HEEGRER) 67 11,300
2021/2/2 = HHEGRER) 67 9,400
2021/2/2 RGN (= 68 9,700




2021/2/3 =y HHEERER) 67 9,400
2021/2/3 RN =y 68 9,400
2021/2/4 =y HHEIRER) 67 9,700
2021/2/4 RN = I 68 9,400
2021/2/5 =y HHEIRER) 67 10,600
2021/2/6 =y HHEIRER) 67 11,300
2021/2/6 RGN =y 68 10,600
2021/2/17 =y HEEGRER) 67 10,600
2021/2/8 MR =y 68 10,600
2021/2/9 =y HEEGRER) 67 9,400
2021/2/9 MR =y 68 9,700
2021/2/10 =y HEEGRER) 67 9,400
2021/2/10 | H4E(ARER) =y 68 9,400
2021/2/11 | #H$E(ARER) =y 68 9,400
2021/2/12 =y HEEGRER) 67 10,600
2021/2/13 =y HHEGRER) 67 11,300
2021/2/14 =y ki€ 1)) 67 10,600
2021/2/15 | #H#E(FRER) = 68 10,600
2021/2/16 =y HHEGRER) 67 9,400
2021/2/16 | HE(FRER) =y 68 9,700
2021/2/17 =y HHEGRER) 67 9,400
2021/2/17 | #H$EARER) =y 68 9,400
2021/2/18 | #H#E(FRER) =y 68 9,400
2021/2/19 =y HHEGRER) 67 10,600
2021/2/20 | HHE(ARER) = 68 10,600
2021/2/21 | HHE(ARER) = 68 11,300
2021/2/22 | HHE(ARER) = 68 10,600
2021/2/23 = HEEGRER) 67 9,400
2021/2/24 = HEEGRER) 67 9,400
2021/2/24 | HHE(ARER) = 68 9,400
2021/2/25 = HEEGRER) 67 9,700
2021/2/25 | HHE(ARER) = 68 9,400
2021/2/26 = HEEGRER) 67 10,600
2021/2/26 | HHBR(ARER) = 68 10,100
2021/2/217 = HiEGRER) 67 11,300
2021/2/27 | HHE(ARER) = 68 10,600
2021/2/28 = HiEGRER) 67 10,600
2021/2/28 | H#BE(ARER) = 68 11,300




